Hdow Can I Graph All the T+ m

/ dw;ou

lﬂhﬂ

L a Sinusoidal Function?

iz iy
VoS |

rma( pﬂ Hoo(

y

o

[hP T unsfcn:?aém equations for the sinusoidal func tions are:

~asm(bx -c)+d

wﬂ“j B

. 'J’cm
Wl
\/M )

P
Fn CJ interval s

y =acos(bx-c)+d

“\.(,n div da loc,] l{-Lﬂ_

EXx 1

Step 1.

Step 2:

Step 3

Step 4:

Step 5:

Step o

pregtshie 0O

+ rr/(p
+ Y,
FTY

Tl
T,

gt

. Graph y=2 sin(36~;)- 4

'n\no&"_l. [set e_%uaﬂ b%ero anal
solve blﬂm >c/\.j f—a.bfehw.)

Determine the midline value,
& s "
uoL:-:—u; (w csnstonk of dhe f’\%b-&fﬂ“@“w | 4
S :-_..m.‘.? L_”“E > _.l.'(
Add and subfract the amplitude to the midline to get your maximum and minimum values,
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Determine the period of the graph.
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Determine the phase shift.
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Interval y-value (Depends on the graph) + sin -sin + cos -cos
Memorize these patterns!
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